80 neiER SECEL-sELAant »www.iwatafa.jp  [[EIP @5 %E#R » monodukuriiwata-fa. jp

F - = — \
B0 e Eee
ARYV5—FkteYy MAS— 21168 |0 @ ) |
LEHRIICKD Y+ T MCEELTHBEVWVEITET,
RRAFTRPZ UV TONMEREZ D EDNTEEXT,

229 BER_yTIVAYF SUS304
WEZS ME RENIE B SEXHI
§% S45C B4 ANANTIEDRT (IZAE Bo) 27K ==
M | §% S45C BBy AvF | RANRFTIEDHZY (IZH% SUSXMT) 24 SC 0307 B
S | ZF>LZ SUS304 RANFIEDZY (KIFHA% SUSXM7) 24
ARE3mm. f87mm. 23
~RPUVY

g7l 2 .

ol Ol m

S| & ©

L

sc O [T Joor L 0.1

{
) Sy
Ipata »P.120



»P.686 »P.740 »P.740 81

2 & (F)
S |WE| KRR A2 | wgxy aE P
~T7US5| 6B #D; L L ¢D M O:MExES B | ik | SUS304
(] (] 5]

gggg 3 5 75 | 25 | 7 | xM3x3 | SC 0307 B 280 | 310 | 460

ggﬁ% 4 6 75 | 25 | 8 | xM3x3 | SC0407(B 280 | 310 | 460

69527

605ZZ | 5 7.2 75 | 25 11 *M3X3 SC 0507 B 350 380 530

62527

60627 8.4 75 | 25 13 M3X 3 SC 0607 |B1 390 420 550

62622 | 6 9.2 75 | 25 13 M3x 3 SC 0607(_B2 390 420 550

69627 8 75 | 25 | 13 M3x3 | SC 0607 B3 390 420 550

60822 1.7 95 | 25 | 18 M4x4 | SC 0809 1B1 420 500 660

628272 | 8 1.4 95 | 25 18 M4 X 4 SC 0809 B2 420 500 660

69827 10.4 95 | 25 | 18 M4x4 | SC 0809 B3 420 500 660
600022 14.2 11 3 20 M5 X 6 SC 1011[B1 460 550 770
6200zZ | 10 16.7 11 3 20 M5X 6 SC 1011 B2 460 550 770
690027 132 11 3 20 M5 X 6 SC 1011 B3 460 550 770
600122 17.2 1 3 22 M5 X6 SC 1211 B1 550 600 880
620127 | 12 17.7 11 3 22 M5 X 6 SC 1211 ]B2 550 600 880
690127 152 11 3 22 M5X 6 SC 1211 B3 550 600 880 KPS
600272 202 | 11 3 25 | M5x6 | SC1511[]B1 600 680 930
620277 | 15 21.2 11 3 25 M5 X 6 SC 1511 B2 600 680 930
690277 18.7 11 3 25 M5 X 6 SC 1511 B3 600 680 930
600322 222 13 3 28 M6 X 6 SC 1713 B1 700 770 | 1,090
620322 | 17 24.2 13 3 28 M6 X 6 SC 1713[ B2 700 770 | 1,090
690327 20.2 13 3 28 M6 X 6 SC 1713 B3 700 770 | 1,090
600427 25.2 13 3 35 M6 X 6 SC 2013 B1 750 820 | 1,200
620477 | 20 27.2 13 3 35 M6 X 6 SC 2013 B2 750 820 | 1,200
690477 24.7 13 3 35 M6 X 6 SC 2013[ B3 750 820 | 1,200
600527 31.2 135 | 35 | 38 M6Xx6 | SC 2513 B1 820 930 | 1,530
620527 | 25 33.2 135 | 35 | 38 M6X6 | SC 2513[1B2 820 930 | 1,530
690527 30.2 135 | 35 | 38 M6x6 | SC 2513 1B3 820 930 | 1,530
600622 38.2 155 | 35 | 45 M8X% 8 SC 3015 |B1 930 | 1,090 | 1,800
620622 | 30 40.2 155 | 35 | 45 M8x 8 SC 3015 B2 930 | 1,090 | 1,800
690627 35.2 188 | 88 45 M8x 8 SC 3015[_|B3 930 | 1,090 | 1,800
600722 432 165 | 45 | 50 M8x8 | SC3516[1B1 | 1,200 | 1,310 | 2,180
62072Z | 35 46.2 165 | 45 | 50 M8x8 | SC3516[1B2 | 1,200 | 1,310 | 2,180
690727 41.2 165 | 45 | 50 M8x8 | SC3516[1B3 | 1,200 | 1,310 | 2,180
600827 48.2 185 | 45 60 M10x8 SC 4018[_|B1 1,640 | 1,800 | 2,840
620827 | 40 522 185 | 45 | 60 | M10x8 | SC40181B2 | 1,640 | 1,800 | 2,840
690827 46.2 185 | 45 | 60 | M10x8 | SC 4018 B3 | 1,640 | 1,800 | 2,840

KENEIED RN —ARELNES,

/]
4

iwata

RAQRVAY T 54T 13.P80% CBC &L,





